Math 202 Quiz # 4b

Name: Soa_bun Sr. # Section #
Given that y, = €O%X is a solution of the DE: x 'y "+ xy '+(x 2 —lJy =0 on (0,2).
Jx 4 2

1. Find a second linearly independent solution.
2. Check your answer by verifying that the two solutions form a fundamental set of solutions.

3. Write the general solution of the DE.
o d i -
|- Fist wiide 2 Df an: § +L 9 (- aa)d = °
ure —#( M ; r\—/ Pex)= -;(—-

_ J.
—sx [ e % — X [ x
"""/;(.. g_b_f;x 2 f;r COJ*
=] §
- Gx (dmd = Gy (i
V¥ Vx VX
- (j = Slhy
(2
Vx Cos Sinx
Gx <. x\ - V¥ Vx
2_ \/\/["’1 ’Z):W —-J:‘;c_’l ‘[;x)" N 7
VxSix-thx VT lox Sy
15 2y

—

= Lo,
2 x

> it et basnly iyt

= }j"jt} w4 /“thf«,/ .Cf/%uj Saf#t‘f‘m;ﬁrﬂ[)f.

3 71 sortyad Solutiom 4 cj:(_l €y ¢, Stax

Vx Vi




